|

- According to Mendel, the phenotypic ratio of rz

generation of g dihybrid cross is -

& AR T Tt e % R daft 09
Wﬁm‘mm_
(A) 1:230 (B) 9:3:3:1,

©) 15:1 (D) 3:1

What proportion of area of state of Rajasthan is
desert?

(A) Two-third (B) One-third

(C) One-fourth (D) Half
TS I & fa W weea 8 ¥ 7
(A) A-frerd. (B) wn-ferd
(©) ww—aurg (D) amen

If the height is doubled and the base is decreased
by 20%, then the ratio of old area of the trlangle
and new area of the triangle is -

gy S B T & fean 9 ofR e @t 20%

HY far 9w, aﬁw%wmeﬁtﬁgﬁ%?&

§IHA B AJUC & —
(A) 4:5 (B) 5:8
(C) 3:8 (D) 2:3

A milk like preparation can be made from the
seeds of ;

(A) gram (B) maize
(C) barley (D) soyabean
% |1 310 TH qY e qe a'-ﬂé il
ol 2
(A) = (B) wa®t
(C) =i (D) WEEH.

‘Arun Hydroelectric Project’ is result of co-
operation between India and
(A) Nepal (B) Afghamstan

(C) Myanmar (D) Bhutan |
EvT FTagd TRl |t U & qedn
%1 w1

(A) Ut (B) mﬁ@ﬂ‘f

(C) =M (D) sz

Vitamin that acts as a hormone and increases
absorption of calcium is -

(A) Vitamin K (B) Vitamin g

(C) Vitamin B (D) Vitamin B

7% Tt s mﬁ & ave Bl Bar ¥ oY v

(B) faerfim <1,

Rt %
(A) (D) faaift |

(C) faeifm &

3R] O

10

11

12

‘Amendment’ & forq @@t et 9T & -

(A) weufi (B) oA
(C) dsher (D) Rad

Choose the correct alternative for translation of

the technical term :
I% .

(A) practitioner

(C) supplement

(B) plotter
(D) backplane

4im|
log - is equal to -

log‘42m} & A ¥ -

(A) 2log2+logl + logm —logk
(B) log4—log! — logm —logk

(C) log2+log! — logm +logk

(D) log4+logl! + logm +logk

A person with blood group ‘B’ can donate blood
to persons having -

(A) B and O blood groups

(B) A and AB blood groups

(C) B and AB blood groups

(D) A and O blood groups

‘B’ ®ftx ot aren afed R o @t & wfyagr &t
T T B FHA ¢, q6 & —
(A).B @& O IR o =
(B) ATd AB ¥R = &t
(C) B ud AB sRR ant &Y
(D) A wd O sfux gt @

e e o e o= & AR @S Rugw fed 9 Rl
wq W faee e €, o9 @ed 7

(A) €& (B) qq® TgeY
(C) HWE dagey (D) =Ry

A cross between heterozygous progeny with its
homozygous parent is known as -

(A) Effective cross (B) Back cross

(C) Pure cross (D) Test cross

faomgre! T A1 S WA W % W EH
H BEd & -

(A) T HEHT (B) wEt "I

(€) I8 FH™ (D) e waw

[ Contd...
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3PR ] O

As per Thornthwaite’s classification which of the
following represents the climate of Jaisalmer?

UM & TH & AR Prafafad § & @ @
TR B TAAY B TG BT § 7

(A) CA'w (B) DA'w..

(C) DB’'w (D) EA

Which among the following position is not held

by Chief Minister of Rajasthan?

(A) Member of National Development Council

(B) Chairman of Chief Minister’s Advisory
Council -

(C) Chairman of Rajasthan State Human Rights
Commission

(D) Member of Inter State Council

Prafties % ¥ &9 @ Towam & ger wh @1 g

T E?

(A) T e Wiwg & g

(B) g1 =5 waeaR Wiy & oreg

(C) UM T TEAISR G HT 3ege

(D) siwxtg wRwg &1 e.

Convert the following indirect speech into direct
speech by choosing the correct option :

He inquired whether his name was not Ahmed. _
(A) He said to him, “Was not your name Ahmed?”
(B) He said, “Was not his name Ahmed?”

(C) He said to him, “Is not his name Ahmed?”
(D) He said to him, “Is not your name Ahmed?”

The edge of a cube is increased by 20%, then its
volume is increased by -

TF T % A 20% 97 gfg @ W ¥, a9 sad
oga H g gig & -

(A) 60% (B) 72.8%.

(C) 80% (D) 20%

Which of the following districts of the state are
located on the international boundary from south
to north?

(A) Barmer, Jaisalmer, Bikaner and Ganganagar
(B) Jalore, Jaisalmer, Bikaner and Ganganagar
(C) Ganganagar, Bikaner, Jaisalmer and Jalore
(D) Ganganagar, Bikaner, Jaisalmer and Barmer
'm%aﬁaéﬁiﬁmtamﬁmwﬂawémam
3T frerg £ 7

(A) =, SEEAT, dEH Ud Ty

21

22

(B) Wi, HE@HY, ST ug TR
(C) TR, damMT, J|ay qai.lmaﬁ?
(D), IR, dIdMT, ST 0 ey

20 -

Sin a imaginary language the digits 0, 1,2, 3, 4,
@5‘ 6, 7, 8, 9 are substituted by /, m, n, o, p, 4, I;

s, t, u respectively and 21 is written as nm, then
B ]
'[(m - ql‘) X an is equal to -

afy uw sreafem o ¥ owi 0, 1, 2, 3, 4, 5, 6, 7,
8,9 @ I [, m, n,q,p, g,k S, t,uz}uf%rwrﬁ?{ 2
fpar mar & awr 21 &Y nm faar @mar €, @ %2

[(/u — qr) x an quar - (9 %3-Sx6)< 1%

ITX

2y ~30)>1t
- B) —on ;
(A) —qtu () p2>‘174/‘ D eskfes
(C) qtu (3x3-5xt)p(D) onp .
5437 o g =AY ¢ ADe
Gy« Ul [IU R TP g

19  Wherc are files moved in window’gafter eletion? 2Z%21x.

(A) Recycle Bin

(B) Control Panel

(C) My Documents
(D) Windows Explorer
(A) frmsfea f=

(B) @ ¥w

(C) W sfrpiea

(D) vt TRt

The Vagadi dialect is spoken in the area
of Rajasthan.

(A) South - western (B) North - western

(C) North-eastern (D) South - eastern

TSN A T B &5 ¥ Sl oy ¥
(A) =1 - gy (B) IuX — uiyeshy

(©) v - gt (D) R — ot

For how many years biological patent is legal in
India?

(A) 10 years (B) 15 years

(C) 20 years (D) 5 years
\ﬂmﬁwmﬁ'&mﬁaﬁw%ﬂm%?
(A) 10 o (B) 15 of

(€) 20 = (D) 5

Where was Bhakti S
(A) Dehara
(C) Sanchore

aint Ranabaj born?
(B) Pilibanga
(D) Hamaws

gy S AT R g e

(A), &1 (B) e 3

(©) uiur ¥ (D)miarﬁ'
[nnnt.]

Scanned with CamScanner



24

25

26

27

28

29

i

R’s salary is 30% higher than S’s salary, The

“'percent that S’s salary is less than R’s salary is -

R da9 S % 3 ¥ 30% afrem 81 R & a9 &
Wﬁﬁsﬁsama‘huﬁmmw%—
(A) 23=%_ (B) 30%

......

(©) 25%

‘‘‘‘‘

How many times do the hands of a clbek coincide
in 36 hours? ' )

36 auet § uw udy @ gl fee A PR €7
(A) 35. B) 36 ()

(©) 39 (D) 33-

Who is Chief Election Conmnission(;nv*}of India?
(As on 18 December, 2022)

(A) Sunil Arora =

(B) Om Prakash Rawat [

(C) Susheel Chandra %D

(D) Rajiv Kumar el

W & Ter g g a & ° (18 Ry, 2022
F FAFEN)

(A) §im . &

(B) i werst [ad o

(C) g &= i

(D) TEE FAX gj:

A Sum becomes ¥ 8,800 in 4 years)at simple
interest at the yearly interest rate of 25%p-a. What

is the sum (in rupees)? (v

§ 7 8,800 & S &1 TR

(A) 2.200 -
(C) 4,400 (D) 1,100 €N
[ r:;:ﬁ'l
%mwmgm%mqﬁmiﬁ—
(A) w/E@ q o
(B) waxree Bl -
(C) @t gave BT o
(D) famst & wer g6 el
ﬁqﬁ@ﬂﬁﬁﬁmﬁmﬁmﬁw@%{};@%?
(A) W,ﬁm, sy ';‘:H
s aﬁﬁg: {*
(C) @I, , y
' el (")
(D), Picd, B, o
was Rajasthan Foundation setvup?
T Graveer @ e &9 g7
A) 2000 (B) 2002
gc) 2003 (D) 2001

3PR | O

31

33

34

30 If ratio of length of vertical rod and length of its

a1
shadow is [:+/3, then angle of elevation of sun
is-

U ST B @Y wErs qu1 3 Ordl bl o ol
ST 1:4/3 &, @ gd @ T BT E -

(A) 45 (B) 60°
(C) 90° (D). 30°

In MS Word, when the page margins are altered or
when the text does not fit on the current line,
which feature automatically moves the text to the
next line? »
(A) Word Enter (B) Word Format

(C) Word Scroll (D) Word Wrap

g 9%, wa 9w aterr fRd o E A T
mewmﬁm,ﬁﬁn—mtﬁm
mﬁm:ammﬁ@mm%?_

(A) @ T (B) @% ®HZ
(C) o BhId (D) 9% @

Which of the following organisation was founded
in 1921 in Shekhawati under the impact of Non-
cooperation Movement?

(A) Chirawa Sewa Samiti

(B) Shekhawati Kisan Panchayat

(C) Shekhawati Prajamandal

(D) Shekhawati Sudhar Sangh

Profiad § @ Sr@mar § e we @ w1921
¥ argedn ST & waa § g3 417

(A) fasman e LI
(B) framard e durad
(C) @@ ToHISH
(D), @@ R HY
 [0:064x6.25
What is the value of m ?
0.064x6.25
T o WE R E
0.081x4.84
10 12
A) 3 ®) 5
100
— D) 9
© 55 (

‘aﬁmﬁasﬁaﬂwm&m%aﬁwﬁﬂ“ﬂ
fagrar & 7

(A) UTCHIVETA®
(C) TPrEaTTH

(B) HEAEES
(D) Fehaardeh

[ Contd...
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35 In a mitror the image of an chi;f)!ject ﬁéf)éared to | 40
be inverted and enlarged. The type of mirror is -
(A) Concave mirror (B) Convex mirror
(C) Parabolic mirror (D) Plane mirror
@aﬁwﬁﬁﬁ@aﬁXWmﬁwmaa@%@

e ¥ dor A vt ¥ -
(A) orad U (B) Iu T
() T adw (D)WW T
41
36 Choose the correct antonym of the following word
from the options given :
Freedom ‘
(A) -liberty (B) unchained
(C) independence (D) slavery
37 Lakshya Sen and Kidambi Srikanth are associated
with which one of the following sports?
(A) Cricket (B) Badminton
(C) Tennis .. (D) Football
e ¥ Ud el Aeia fretaied ¥ ¥ fhw w9
Tifad ¥ 7 ' ‘
(A), Tz " (B) SsfimA o 42
(C) & (D) Feam
38 Who among the following artisans awarded
Padmashri for Terracotta of Molela?
(A) Mahesh Soni
(B) Arjun Prajapati
(C) Shree Lal Joshi
(D) Mohan Lal Kumhar ~~
et Tl & § il SO@TE ot A & fore vy
@R T B 7
(A) =ear |
(B) arf yemfa
(C) i @t weh
(D) HreTemd g 3
1
39 ‘1“22 f‘:rst space ship sent out of the solar system
(A) Mangalyan (B) Pioneer - |
(C) Pioneer - 10 (D) Chandrayap - 2
drt Hvew & el o TAT GGl Sie qr oy _
(A) HTEAH (B) Wity . |
(C) wEt@T-10 (D) 5@ .- 2
3R ] O ’

. Salu_teﬂ- lisa -

In which one of the following forts is Jhalibab

Baori and Mamadev Ka Kund located?
(A) Gagron fort (B) Kumbhalgarh fort

(C) Taragarh (Bundi) (D) Chittorgarh

T T o A G el & @ fod
i At ¥7

(A)-gprrtn g (B) gwiee g
©)p-arre (43) (D) fuciisme

tm\"'”‘!‘ . .
The Election Commission of states give their
o

rec?ménendations ‘regarding disqualification of
assembly members —

(A) To Governor

(B)“To Lokayukta

(C){ZTo High Court

(D)*Jo Chief Minister

i Prafe ar faem g aaRdl @ SR %
Heel ) o qeed &9 ¥ -

(A)eTl=aTe Dl

~ (B)S g Y

(C) v=a =arare™ B
(D) ‘g =it bl
<N
Whith'one of the following is directly related to

the gﬁbellate jurisdiction of the Supreme Court of
India?}

A '?‘“A*ppeals made in constitutional cases only
- (B) {"Adjudication of disputes between the Union

and the States
(C){;Adjudication of disputes between the States
D)t Appeals made in civil, criminal and
wgonstitutional cases
frfliad & & B9 W Us WA % gared e %
I, SR & ¥ sl Tehad § ?
(A)hpet Tt gaadi § @ T erdey
(B) (Hp 3R I &% wemw Ryamet a1 =g Pk
(C) T & "ex e} @1 =g Prfgw
(D), i qen ddenfes geedt @ ordey
Y '
ey
(A)rm[gocket
(B) (‘luponstellation
(C) Space Station

‘ (D);w costationary Satellite

dge -~ 1§ ug -
(A) ke
(B) e
(€) orafvar R
(D) e S _

[ Contd...
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44:::Which of the following statements is incorrect
regarding Governor of Rajasthan?

i (A) The chief of Governor’s Secretariat is

’ . Secretary of Governor who is an officer of

1

Rajasthan Administrative Services.

(B) The decisions taken under the discretionary
power of the Governor can not be challenged
in the court.

(C) The Governor cannot grant pardon in the case
of death sentence.

(D) The Governor’s Secretariat is working to
provide administrative support to Governor.

ﬁwﬁéaﬁwmwm%m%a‘duﬁ

I & °

(A) SO
I BERE SRR ICINED
Tl

(B) T A e st & frd ot
rarer & g T & o

() T A TGS ¥ TRy & e TG .
gt Wi T ¥

(D) wmaﬁuamﬁmmm‘aﬂ%%sﬁr&
JaTE aEed B -

15

SR @1 W eI F1 g g
Far &1 St BT

45 Which shortcut key i
permanently in Windows?

Windows & @l &4

fr TS ol @1 WA g ¥ 7
(A) Delete (B) Backspace
(C) F2 (D). Shift + Delete

46 The process of arranging items of a column in a
particular sequence or order is called as -

(A) Autofill (B) Sorting
©) Filtering

ar was Chief Minister of

47 In which budget y¢ |
e ‘Rajyastarlyd Panchayat

Rajasthan declared th

Award Yojana’?
e & g WA RURICHD

s used to delete a file | -

3 ot e @ T % e |

48 Thée compound which gives alcohol on
reduction is -

(A) alkyl isocyanide

(B) nitroalkane

(C) alkyl nitrite

(D) alkyl cyanide
ﬁﬁﬂﬁWWﬁWW%,ﬁ%-
(A) fera emFararEs

(B) mEZwhT

(C) Dfeeder 321z

(D) Oftehet A

49 Study the following graph carefully to answer

the question :
P 6 1 WAL GEH ATEEA B I B I

No. of Boys and Girls
weh Tl wsiedl @ den

Colleges / BT

Boys/ weE

% Girls / wsfeat

What is the respective ratio of total number of
students of college A to Cc?

mﬁﬁAamCﬁgﬂﬁrﬂﬁﬁtﬁqﬁMWaﬁmﬁ

frg awre ad |

Garad &ars arn &1 doon @1 417
(A) 2015-16. (B) 2014-15
(C) 2016-17 (D) 2013-14

3R] O

T e?
(A) 2:3 (B) 1:2
) 1:1 (D) 3:2
50 Where was *Rajasthan Sewa Sangh’ founded ir
1919?
(A) Wardha (B) Ajmer
(C) Jaipur (D) Bijolia
1919 ® 'mﬁww?ﬁmzﬁﬁaﬁﬁﬁ
(A) @i (B) 3T
(C) g (D) fehifermn
6 [ Cont
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54

Which ,
Dis exzzéheﬂans"‘fer figures marked A, B, C and
‘ ¥ the mirror image of the main figure?

A, B, Calt D % § g

Main Figure / T& Sty

&

Answer figures | ST it
=T = Py
SR EIAN
AN
© | ° ®) Z&
. NP

" In which year Government of Rajasthan unbundled
Rajasthan State Electricity Board (RSEB) into five
Government Companies?

mwﬁmﬂ%maéﬁmwwﬁga@é

2 dtg T FwtE ¥ die fer e

(A) 2007 (B) 1995

(C) 2000 (D) 2012

Choose the correct preposition to fill in the blank.
Warning ! No unauthorized personnel this
point. _

(A) of (B) beyond

(C) besides (D) since

s become€ the first Indian

Which mountaineer ha
ts of five peaks above

Woman to scale the summi
8000 metres?

(A) Priyanka Mohite (B) Premlata Agarwal

(C) Malavath Purna (D) Arunima Sinha
L4 T 9 g000 et & ST <fedl &
et T T A e %7
7 (A) R A (B) S S
(C) wrerad (D) T
3R] O

55

56

57

58

A group of 1200 persons consisting of captains
and soldiers is travelling in a train. For every
15 soldiers there is one captain. The: number of
captains in the group is - i

e wd AR & 1200 R H o w3 9
e @t 7@ ¥ T a 15 Am T us wh 2

g G A B DG -

(A) 75 (B) 80-

(C) 8 (D) 72

quye’ 91 A BE-°1 G ¥ 7

(A) HTT T (B) afemr aged

(C) W agew (D). SEr aged

How many days’ work is provided to urban

gnemploycd persons under Indira Gandhi Shahari
Rojgar Guarantee Yojana?

HECURIIE | s@ﬂmﬂnﬂfrm%ms@

et @Y e Rt B Qeme Y MY & o ¥ 7
(A) 100, (B) 120
(C) 150 (D) 60

In a DBMS, the content and location of data is

identified by :

(A) Sequence data

(B). Metadata
(C) Minidata
(D) Subdata

" DBMS & =11 % Fi¥e 9 W F GedH T D

59

60

AR F

(A) e 1t (Sequence data)
(B) ==t (Metadata)

() frfrerar (Minidata)

(D) @=swT (Subdata)

Replace the underlined part of the following
sentence with one word from the options given
below :

She teaches the science of the life of plants.
(A) zoology (B) biology

(C) pathology (D) botany —

In which physical region of Rajasthan Mukundra
Hills are located?

(A) Middle Aravali
(C) Hadoti Plateau

(B) South Aravali
(D) North Aravali

rorerr % fe i W J el Y et
Reaa §7
(A) FeA STTEe (B) Ry ST
(C) wEwil wer (D)
[ Contd
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65

Read the following passage and answer _tllt?
question that follows, choosing the cprrect optlon.
Recent research into antibiotiC - resistant

bacterial strains suggests the need for a re-

examination of the frequency with which doctors
One study

prescribe ‘an!tibacterial therapy- .
cd 1ost_minor

demonstra c}d for example, that n
bacterial in&_‘gciions will resolve without treatment
within 5 to 14 days of the onset of symptoms; a4
course of ahtibiotics might reduce that time frame
by only 1 t&'2)days. A second study indicates that
the incidents-of “superbugs”, which have resistance
to a wide(-y riety of antibacterial agents, 1S
increasing significantly and that these bugs are
more likely to spread among those who have been

treated with_antibiotics within the past 5 years.

67

Q. The pgggage is primarily concerned with -
(A) explaiﬁiﬁlg a change in the frequency- with
whichtantibacterial therapy is prescribed.
(B) contrasting the views of doctors and medical
researchérs with respect to prescribing drugs.
(C) questjoning the routine prescription of
antibiotics for bacterial infections. '
(D) discussing research into the symptoms of
bacterial_infections _, -
@) ‘

68

—

ST ST 1 faw ¥ -
(A) ST=E (B) o 69
(©) s (M) (D) 3Fd

i

Silver article turns black when kept in the open
for a few days due to the formation of -
aﬁ%aﬁ?@ﬁ@ﬁﬁgﬁr@ﬁéww%
e @ B ¥ 7

(A) AgS - (B) AgSOy

(C) Ag,S ri ‘ (D) H,S

The term ecology was coined by .-
(A) Aristotied (B) Reiter
(C) Khorana) (D) Brown
oz T B waead fen ¥ -

(A) 9~
(®) Wé’i

70

71
In Rajastha?—‘”‘JMission Buniyad’ is related to -
(A) E-Healilrservices
(B) Poverty"‘q:radication
(C) Police reforms
(D) Digita -,.Jc;aming

e § e gﬁm o a4y & -

72

66 Who is cha

irman of DRDOY (a5 vn 1o

er, 2022 v '
Bf)ceg: Vijay S)ingh (B) Dr. /}lok Jain
©) Rajwant B. Singh (D) Samir V. Kamat
DRDoamwaraﬁ:f%‘?(ls ﬁzjm, 2022_asaw)
foe (B) .
(D). @I 4y, ®md

DASH diet is recommended for patients suffering

from disease -

(A) Liver cirrhosis
©) Anaemia

Yo7 (drguE.Td.) e 3T
3 iy g@ O & ke g -
(A) Tga fatiaa (B) ed @aa™
(C) @ (D) wreTand

The river which is known as the sorrow of West
Bengal' is -

(A) Brahmaputra
(C) None of these (D) Damodar
aﬁ,ﬁ%qﬁaﬁmmsﬁmmm% CrE
(A) &g (B) TU=H

(C) & & 7g @ (D) TMRT

A man sold two tables for ¥ 720 each. On o% he
gained 20% and on the other he lost 20%. Find
his total loss or gain in this transaction.

(A) Profit of T 40  (B) Loss of T 40

(C) Loss of T 60 (D) No loss no gain

o o ¥ @ A adE T 720 F 4 1 g WE
20% w1 qe g T 20% R gE, A s B 9

(B) Hypertension
(D) Gastritis
Jifirdt Y SR I S

(B) Gandak

‘ff?ﬁ%ﬁfﬁﬁfﬁﬁaﬁmmgm?
(A) T40@mwm  (B) T 40 @ @
(C) T 60 wIh (D)= =1«
freffad § ¥ v Wd = BA- 0§
(A) gwTE™ (B)_ &rfam

(€) gFaq (D) . 9@

The ratio of the side and height of an equilateral
triangle is -

g B @ 9 O S B ST A ¥ -
(A) 3:2 (B) 2:1

©€) B3:1 (D) 2:43

frmfafad § ¥ - TLE TN A & ?

(A) S (B) aiferger

(C) ST u=t (D) fws

| Contd...
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3R] O

Most of the pathogenic organisms that cause
diarrhoea are transmitted by -

(A) Faecal - oral route :

(B) Insect - bite

(C) Animal to person contact

(D) Droplets

SHfhisT ot e S s @ wror e E 3
quiid B ¥ -

(A) F9—9Ras "rt §

(B) o & s ¥

(C) uy & =afm ¥ dud Q

(D) ' &

Choose the incorrect statement -

(A) Graphite contains delocalized electrons

(B) Graphite can be used as a lubricant

(C) Graphite can not conduct electricity

(D) Graphite has layered structure

HET BYA B Witew —

(A) FoEE ¥ framiga soegH e E

(B), IEZ B UF Wed & ©9 F g AT W
THAT B

(C) Iwrsz foga wariea & &ar ¥

(D) I®rEE A GG G e B

The ratio of radii of two right circular cylinders is
2 : 3 and the ratio of their heights is 5 : 4, then the
ratio of their curved surface areas and volumes
are respectively :

q wEgAE gadl @ Breae @ oeu 23 qen
SETEl F FIUE 504 &, A I Al % a9 g
EFT U AEGA! BT AU HAM: ¥ —
(A) 5:9;5:6 (B) 6:5;9%5,
(C) 9:5:6:5" (D) 5:6;5:9
If Ranchi is called Raipur, Raipur is called Patna,
Patna is called Cuttack and Cuttack is called
Bhopal, then what is the capital of Bihar?

(A) Patna (B) Bhopal

(C) Cuttack (D) Ranchi

&, U F %2 FEl W1 § ad w2 @) N del
ST &, @ faer @ e @ & 7

(A) Wz (B). witare

(C) =z (D)

Which of the following reactions will not take
place?

Fret & & -y afirfrar et e 37
(A) 2KI+Cl, — 2KCI + 1,

(B) Zn+MgS0, — ZnSO, + Mg
(€} Mg+CuSO, — MgSO, + Cu
(D) Zn+FeSO, — ZnSO, + Fe

78

79

80

81

82

83

‘What is the synonym of “Deform”?
(A) fashion (B) distort
(C) beautify (D) mould

What is ‘Mokri’? TERT I
(A) Woollen carpets

(B) Terra-cotta Pottery

(C)' Wooden toys

(D) Lat'Bangles

RICEINE I

(A) wral afar

(B) frdt)d =i

(C) g} & faeir

(D) eyt =gfiat

If the ayerage of m numbers is n? and that of -

-0 nunibets is m2, then average of (m +n)

numbérs is -

-afs mdEanet & oftga n? ¥ @ 6 ae n g

& eiga-m? ¥, @@ (m +n) dEme & ofEd § -

(A) nren (BL mn
(©) m/ny (D) m+n
«Whiclﬁwg]ace is famous for Ajarkha Print in
Rajasthan?
(A) S’énéaner (B) Barmer
(C) Kota (D) Jaisalmer
arar iy & g TS @ a-ar e ates 7
(A) s (B) srewx
(C) =) (D) wEeR

e

Whicheof] the following devices can perform both
input and output functions?

(A) communication device

(B) vk{é’" \,‘I\?oard

(C) mouse

(D) - trackball 4

Freafurfl 3 & - s 3e O neege AW
% HCHY FhaT § ?

(A) war feargy.

(B) apeats,

(C) wr3g.

©)

,~<‘-
O . z
Rajiv“"Gandhi Rural Olympic games were
inaugutdted by Chief Minister of Rajasthan in

(A) Jaipur (B) Jalore

(C) Hanumangarh (D) Jodhpur

T el amiior siiwfues Qe w1 SgEE TERAE %
e W3 g ¥ fepar

(A)-wragY (B) Wi

(C) zgarrTs (D) gy
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84 Who among the following won his 251 world title

~ (C) anfea dean

85

86

1. (C) BOB

at the World Billiards Championship held at Kuala |

Lumpur on 8-10-2022?

(A) Pankaj Advani (B) Geet Sethi

(C) Aditya.Mehta (D) Saurav Kothari
Frofefag & & fpee 8-10-2022 & FaaremeryR A
i faga Rafvade Afaaasha § s 25 & faga
faa@ <t ?

(A) UHd Tz (B) i &3
(D) dra @rer

India’s first electronic bank guarantee is issued by
which bank?

g 4% T ARG B FuT FEED S ML A
w g ¥ 7
(A) SBI (B) PNB
(D). HDFC

Mahesh is 12t from left and Suresh is 12th from

right in a line of 19 boys. How many boys are
between them?

19 @@ @ uw i ¥ A ardf ok ¥ 12 &f qun
g ol Sl § 1297 31 A & Aea R W ¥ 7
(AL3 B) 4 2 1 19
© 5 D) 2

87 The official legal advisor to the state Government

88

89

3PR ] O

is -

(A) The Attorney General
(B) The Advocate General
(C) High Court

(D) The Chief Justice

mwaﬁmﬁmﬁméﬁ%m

afrpa & —
(A) wEraTaaTar
(B) wet sityaeRt
(C) = <aed
(D) gea st
In how many phases the integration of Rajasthan
was completed?
(A) Six (B) Seven
(C) Eight (D) Five
TR @1 Tl feha o W g o ¢ ? |
(A) ® (B). &
(C) @e (D). U
Which of the following is the main component of
jute fibre?
(A) Lignin (B) Pectin

(C) Hemicellulose (D) Cellulose
fret § & P 9 qF @ TA 9 &7
(A) T = (B) uferR

(C) Prigara (D), gl

10

90 cot2f—cosec’d =?

A) 1 ® -1
€ 2 (D) 0

The cube root of 512000 is -

512000 @1 & F & —

(A) 60 (B) 70

(CL 80 (D) 50

Which of the following sections does not exist in
a slide layout?

(A) Charts /(B) Lists

(C) Animations (D) Titles
ﬁﬂ%ﬁaﬁéﬁw—mwmﬁmﬁw
TR

(A) =™
(C) T

(B) ferew
(D) g™

Which of the following features allow you to
narrow down the data in your work sheet?

(A) Merge Cells

(B) Fill Handle

(C) Filters

(D) Sorting
ﬁmﬁrﬂgaﬁ%aaﬁfhgﬁmmmﬁa%aﬁzﬁ
327 F HH B B AR TN 82

(A) = ¥w (Merge Cells)

(B) frw ¥s@ (Fill Handle)

(C) fweed (Filters)

(D) wifen (Sorting)

Who was the first Chief Minister of Ajmer state?
(A) Hari Bhau Upadhyaya

(B) Heeralal Shastri

(C) Jai Narayan Vyas

(D) Bal Krishna Kaul

wﬁm%umg@awﬁzﬁm q?
(A) 3R 9% I

(B) e et

(C) V@A@Y =™

(D) 91| FO @I

Find the missing number.

T ¥ T B

47 x 38=8374, 53 * 16=6135,20 % 92 =2
(A)-2902 (B) 2920

(C) 9220 (D) 1840
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96  Which district is not situated in very humid climatic | 101 Who was the féther of Ajayraj Chauhan of Ajmer?

region? . (A) Vigrahraj II (B) Durlabhraj Il
(A) Northern Chittorgarh (C) Prithviraj I (D) Chandraraj Il
(B) Banswara | I & SASTE de™ & far B d ?
(C) Baran (A) foreww fefa (B) gehwat fidia
(D) Sirohi : (C) y&rTe wem (D) == fadra
ity ond g waw ¥ s frer Rea T8 ¥ ? :
(A)-Sa fa<diisTe ! 102 BIOS is a part of which of the following?
(B)HTG'GTET ) Mﬁwﬁémm%@%?
(C) st ' P (A) LAN (B) ROM
C) WAN D) RAM
(D) R © (D)
i L i 103 Who among the following, Governor consults for
97  Which of the .followmg is a phys.lcal change? the appointment of Lokayukta in Rajasthan?
(A) Combustion of magnesium ribbon (A) Chief Minister and Chief Justice of High
(B) Burning of candle Court
(C) Melting an ice cube 3 (B) Chief Justice of High Court and leader of
(D) Rusting of iron , opposition in the Assembly
Preffag ¥ ¥ it aiads &= a1 ¥ 7 " (C) Chief Minister, Chief Justice of High Court
(A) Aifiram faw &1 @ and leader of opposition in the Assembly
D) Chief Minister
(B) wrael &1 e ( ; .
(C) % @ e TR ¥ T g @ fagfe % R fe |
(D)_a ¥ w1 @ q frad wre qrmst wYar €7
- . (A) ger @ $iR Soa AT & ged T
98 In hexadecimal number system the value of the (B) Emw A =Tl ot e e A
base is : ' ' . ) :
YoareRiae ST WOel ¥ SmH & A ¥ (C) Fea ¥, T=9 I B FeA A AT
(A) 6 (B) 8 ] frer wom & et 1
(C) 16— D) 2 (D) qe w3

99 During the period of which Maharana of Mewar 104 frafafaa ¥ fe faeg § aaEs GG 9= § 7

was “Chiteron Ki Ovari” an art school in the palace (A) e, T (B) Tm, @YX
established? (C). s=wd, drgar (D) WS, T

(A) Maharana Amar Singh - .
(B) Maharana Jagat Singh I . | 105 Translate the following sentence into Hindi :

(C) Maharana Jai Singh He called a taxi for me.
(D) Maharana Pratap (A) T8 g3 SH g

Iare % few geTOon % wwg Tomew # Cfaadi & (B). 38+ A% fog uw Tl ges)
aierdl” A ¥ @ fyamad witid fe wn e (C) =& ¥t fog ws T @
(A) TERmn oY R (D) & R Th T Fe

(B) _meraen 1rd R wad

(C) wewn W fiE 106 Who was the Chairman of First Finance

Commission of Rajasthan?

(D) Herem S ' (A) Krishna Kumar Goyal
. o ) (B) Jyoti Kiran
100 Which one of the following is newer mountain (C) Manik Chand Surana
range? . o (D) Heeralal Devpura
(A) Aravali (B) Shivalik TR % Woq Rrd oA @1 STEs & ar?
(C) Vindhyan (D) Annamalai A e
Frfafad 3 @ @ @ T T sjam ¥ EB}E?&{%
(A) e (B) firarfer (C) Wit g gawn
(C) e (D). &g (D) R Fag
3PR ] O | 11 [ Contd...
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107 The river I“dm"atl is a tnbutary of the river 11 The blood cells that protcct the body from microbes
and other foreign substances arc -

(A) Krishna: " (B) Mahanadi (A) Leukocytes (B) Platelets
© K'l\ru'y e (D) Godavari ‘ ..(C) Lymphocytes (D) Erythrocytes
Sfmé’t:fé’t T B wewd W ¥ f‘fmm}fgmqaﬁgrﬁraﬁqamﬁa’raﬁimargﬁmﬁ
@A) g (B) werd i g T F A -

(C) wd - (DL Ml (A e (B) ufzer]

| ) e (D) TH]
108 Consider the following situation, what can be said . ,(; )
about emergent ray / rays? | 112" Under Indira Rasoi Yojana, Lunch is provided at

Emergent ray B4 /_per platc.
¢t Wi SUE dHearn T

White color

: A 7 (BL 8
(A) a red light RS E;E’C) 12. (D) 17
(R

(B) a white light
(C) a violet light
(D) VIBGYOR : 1

Rrfifian Rafy @ s A T g e fpTar / ol (B) Tropical Thorn Forests
a T ¥ = TE S BT & 0

113+In India, the Coniferous trees are found in
(¥(A) Tropical Evergreen Forests

€2(C) Mountain Forests
(D) Mangrove Forests :
“Hd ¥ STl ga ¥ g = 2
™(A) ST qeamEe o
f"(‘B) SwERg HER T
'(g) wdda a9

|
(A) & TE ' (D) #ura a9
(B) T2 wael SR
(©) T W TR llg“lgobel Peace Prize, 2022 was given to Ales
(D). faawdiit (VIBGYOR) o o pialiatski.
- ? He is from which of the following countries?
{ i ' A) Belarus (B) Russia
109 If x=1"7 then the value of x? +2x+3 is-| | C) England (D) Ukraine
+ . ﬁggm%lmhﬁ:ﬁémﬁw. 2022 § I
afs x= L s @ sxq3mumd - s
AT B N _ %ﬁmﬁiﬁwﬁ&ﬁw&wﬁ%?
A) qTE" (B) ®w
(A) 3+42 (B) 4 (*
(C) v (D) g+

(C) 0 (D) 2442 -

1 & 3% Wht.n was National Rural Employment Guarantee

. Tali® dance is performed in the raise of
110 “Terah I P P -§cheme was renamed as Mahatma Gandhi National

Folk God ' ~Rural Employment Scheme?
Mallinathji (B) Tejaji (vyural mploy cheme?
Eé; R;ndevjiJ (D) Gogaji (IE) 2 October, 2009 (B) 2 October, 2008
e’ 99 A aa @1 wia § fr (C) 2 October, 2010 (D) 2 October, 2005
AT % S Wrflor QT AT T 1 A1 AL BT T
(A) T (B) demell il ey gnfor A @ e e e
(C) TreEHl (D) I (A) 2 srrgat, 2009 (B) 2 a@gay, 2008
' (C) 2 smzay, 2010 (D) 2 si@ay, 2005
3PR ] O 12 [ Contd...
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116 The Summit of the Shanghai Cooperation
Organisation (SCO) was hosted by which country
from 15-16 September, 20227
(A) Kazakhstan (B) Tajikistan
(C) Uzbekistan -, (D) India
g @A wed (CEAeh.) & Rrat wee @
Aot 15-16 Reawax, 2022 @ frw dar A @ AY?
(A) HaEE™ (B) e

(C) wrafpam™ (D), NR@ G
h
117 Select the odd man.
(A) Rubal (B) Riyadh [
(C) Riyal (D) Taka )
o @t sifeq A
(A) & - B) faw i
(C) Ram (D) <@, ™
118 In a triangle AABC, 2/4=34B = 6£C¢ then
ZA, ZB and ZC respectively are - QF
s BIqw A4BC #® 24A=3AB=6[C§ ar
/A, ZB v £C s ¥ - i_‘\,ﬁ.‘
(A) 90°, 60°, 30°  (B) 309, 60°,90° |
(C) 90°, 45°, 45° (D) 60°, 90°, 30° ;f
119 Which of the following decades in Rajasthan has
highest population growth? 3
Wﬁéﬁ—éa&mﬁmﬁﬁaﬂﬁé{ﬁ?{ﬁi
7T Seaaq @l 7 oyl
(A)-2001-11 (B) 1971-81
(C) 1991-2001 (D) 1911-21 o
120 The least distance of distinct vision for a%ﬁ;ng
adult with normal vision is about - - )

W{kwwm%mﬁmﬁg@w%?
(A) 2.5cm @) (BL25cm (@)

(C) 2.5m () D) 25m@®)
121 Which of the following industrial areas ETM
Jocated at Jodhpur? » [
(A) Boranada -1l (B) Napasar ")
(C) Mandore (D) Pal Shilp Gram...;

ﬁﬂﬁéaﬁ?meﬁv‘fﬁma}aﬁﬁwﬁﬂmﬁ.}%?
(A) dTATET- 111 (B) -mamEl
(C) =K (D) ure fared
-
122 Two cubes of side 5 cm each are joined to form a
cuboid, then the length of cuboid so forméd!is -

(A) 10 cm (B) 15 cm [
(C) 20 cm (D) 5cm IS
Sﬁﬁwﬁﬁﬁaﬁﬁsﬁﬂ@ﬂﬂmﬂm
%lmmaﬁmﬁmﬁ%- o
(A) 10 &t (B) 15 i
(C) 20 &I (D) 5 &

3R] O

123

124

125

126

127

128

13

Which
reparation of

(A) Stearic ac

(C) B s o o 7 97

ch of the following is not used in E!)e

soap? ' _ .
id (B) Lauric ac1d'
i (D) Palmitic acid

(C). Aie® 3 (D) wifes o

What is the main attraction O

Barmer?

(A) Bhawai dance
(C) Gair dance

f the Kanan Fair of

(B) Ghudla dance
(D) Gidda-dance

aﬁh%wﬁmg@WW%?

(A) wag @
(©) ™

(B) g5 &
(D) fre 7

(A) Cooperative sector company

Rajasthan State Ganganagar Sugar Mill is a - i

(B) Government undertaking )
(C) Joint undertaking of Government and privat

sector
(D) Private se

ctor company

mwﬁmmnwwﬁ%-
C(A) wEETd & @ hE

(B) GT@HII SUHA
(C_),maﬁai’raﬁwﬁgﬁm
(D) Pl & & do

From which civilization have the remains of well
developed walled fortification found?
(A) Ganeshwar (B) Kalibanga

(C) Balathal

(D) Pilibanga

Forr Ty 3 ore e WY et foprerd & araer

ot ¥ 7
(A) TogAT
(C) ety

What is Nad?

(B) wrarEm
(D) detrEm

(A) Four strips of wood

(B) Attached

flutes

(C) One stringed instrument
(D) A long flute

TS RN ?

(A) w®HS A A TfEat
(B) wzai argRat
(C) Ud dr g are
(D) ws = qgd

Gregor Mende

1, through his work on which of the

following, discovered the laws of inheritance?

(A) Mustard
(C) Peas

(B) Sea Urchin
(D) Beetles

T Avge I few T B B AR b Fraw

fturfee fema?
(A) | o
(C)- X

(B) wgdr aife
(D)
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131 Amarshahi is the name of -

129 Under whose leadership was the excavation work

of Ahar accomplished?

(A) H.D. Sankalia (B) B.B. Lal

(C) V. N. Misra (D) V. S. Wakankar

e H1 SoaT B HEd g W FTdied o av’
(A) wa. 3. g (B) . 9.

(C)-A. wA. B (D) <. TH. vl

130 Choose the correct option.

The tone of a circular should :

(A) remain the same for any kind of audience
(B5 be humorous ’

(C) be strict

(D)' be different for different kinds of audience

(A) Jewellery (B) Terracotta Vessel

(C) Pagdi (D) Jooti (Footwear)
SR RAgaT A & ? ;
(A) SmgET (B) fft & T
(CLwt (D) S

132 Which one of the following is NOT a feature of

Rajiv Gandhi Scholarship for Academic Excellence
Scheme, 2021 announced by Government of
Rajasthan? )

(A) The objective of the scheme is to provide
financial assistance to students of Rajasthan
to study in top foreign universities.

(B) Minimum 33 percent seats are reserved for
girls in this scheme. :

(C) Higher priority is given to students_whose
parents’ annual income is less than ¥ 8 lakhs.

(D) It was announced on 20-08-2021 on the
occasion of birth anniversary of Rajiv Gandhi.

@ @ TE E 7

(A) waﬁqwﬁwwﬁ%ﬁmﬁa’faﬁﬁ
Rl fayafaaraal o areaad & T fadra g
T #)

(B) @ & g 33% e st & fg
e @

(©) ﬁqﬁmﬁ%ﬁfl%mﬂﬂﬂ?fﬂﬁaﬁiﬁamis
Wﬁmﬁmaﬁmﬁmé’rﬁ%

(D) mmﬁavﬁ%ﬁ%ﬁwﬁwwzo-os-
2021 @& @ TE Al

3R] O

i33 Which district of Rajasthan is the part of very

134

humid climate region?
(A) Kota (B) Jaipur

(C) Bikaner (D) Ajmer

ot F1 - R i o g Fest
T %7

(A) ®
(C). dr@rT

(B) g
(D) T

Who was the first Indian to scale Kanchenjunga
in 1977 and is known as ‘Snow Tiger’, who died
recently in October, 20227

'(A) Pankaj Kumar

(B) Umesh Zirpe

" (C) Colonel Narendra Kumar.

135

136

(D) Col. Prem Chand :
CaE| ‘H’fv_asnt’wﬁmaﬁaqu 1977 &
Wnaﬁmmﬁwawmﬁum,maﬁm '

A o, 2022 ¥ 5 A TE?

(A) U&s AR
(B) waw fad
(C) @@ TEH PAR

(D) &a JHE<

Which data type is NOT in M.S. Excel?
(A) Currency (B) Label
(C) Date / Time (D) Number

ﬁﬁﬁ@ﬁ'—m%mm@.@.mﬁﬂ%?

(A) B& (B) W
©€) T/mwm (D) TN
Justice Pankaj Mithal is Chief Justice of

137

14

Rajasthan High Court.

(A) 49th (B) 29

(C) 4o0th (D) 38t '
e ot fyeret T SeT e & — q
e AT

(A) 49 (B) 29

(C) 40 (D). 38

Vijay Hazare Trophy is associated With which

2pA(;rt‘;Iockey (B) Volley-ball

(C) Cricket (D) Football
Wwﬁﬁ@aﬁrw&xmvﬁa%%?

(A)_ &b (B) a@Er

(C) oo (D) $
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145 Who is the Basketball legend and Arjun awardee

138 The members of Panchayat Samiti in:Rajasthan :
: who died on 15 November, 2022?

P st n e (A) Sarabjit Singh
((gg ::10 ]:::::tzde ected. . (B) Gurd:llyal Singh "
o 1 l . R )
©) a;_)pointed by the State Government. g% g]::lsqllln /3[?11)35 'Mooptsir""l .
(D) dlrec.:tl'y elected. e % AThEAT Rt Td SR qeERT R @
Wﬁﬁﬂﬁ%ﬂﬁﬁ{%’::aw%— %’Www,zozzaﬁmﬁw?
(A) s wu & Praffe @ ¥ - R
(B) W #d ¥l ﬁB;.Wﬁ‘?
(C) g FW@R & Frga & ¥ . ), gt T
(D) T w9 ¥ Fraifua @ ) _ (D)me

139 ‘&% & SEUE B wz T 9 9 T8 ¥ — | 146 Where is ‘Great Indian Bustard’ found?
(A) Keoladeo

() mee (B) @
g (B) Desert National Park

(C) & (D)L 7§, i

140 Camel Research Centre is located at - ;fD,) R?“;[;?";g]% ¥
(A) Bikaner (B) lalore : _(1Ai|s)|aa .
(C) Sri Ganganagar . (D) Barmer . . jrcm%a o
Sz g HE R ¥ - EC; T T
(A) drar | (B) TR ¥ - mﬂﬁ'q"?

(C) e H (D) aAT-H
147 Which one of the following Articles of Indian

141 Change the voice of the following sentence from Constitution deals with the Oath of Governor?
the options given below : (A) Article 155 (B) Article 158
Who teaches you such things? * : (C) Article 159 (D) Article 154
(A) By whom you were taught such things? . HRa &% Saae & Frefaiad fea e § awad
(B) By whom are you taught such things? Y JIUY P Yrey f&ar Tar ® 7
(C) You were taught such things by whom? (A) wIgRT 155 (B) or®T 158
(D) By who was you taught such things? (C)-sg=e 159. (D) \-ﬂ—:ﬁ@g 154
142 T4 9= &1 g §a e ¥ - 148 How much percent area should be under forests in
(A) B@ + T (BY #& + 9 the plain area according to National Forest Policy?
(C) #a + &= (D) % + ¥ T 9 e & SEr Aar & § o wiiea o
| & T ¥ orla Br A ?
143 According to the India State of Forest Report 2019, (A) 20% (B) 9.32%
the number of states (Not Union Territories) having (C) 3.83% (DL 33% -

percentage of forest cover less than 10 is -
e w2 A% B fTdig 2019 & Srgar o vl
(3= gfad WSt TE) @ GEAr Sl 9 &= ufer wr

149 Choose the correct tense of the verb given in the
bracket. '

Do you (speak) English?

(12)@6@1 & a€E - ® 7 | Eéi spok:p (B) speak
‘speaking D k
8 S ) s (D) spoke
150 The power of a convex lens is -
144 Fill in the blank with the appropriate article. (A) negative  ° (B) zero
Eat banana everyday to keep yourself (C) infinite (D) positive
healify TETS (OAG L A 3 2 ) O )
(A) the (B) an o el () T
(C) zero article (D) a , © ) e
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